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Predict the outcomes of the following crosses by determining the genotypic and phenotypic ratios. Show your punnett square.

	Bb x Bb


	genotypic ratio:



	
	phenotypic ratio:



	BB x Bb


	genotypic ratio:



	
	phenotypic ratio:



	Bb x bb


	genotypic ratio:



	
	phenotypic ratio:




	Tall pea plants (T) are dominant to short pea plants (t).  If the F1 generation is a homozygous tall plant crossed with a short pea plant.

What are the genotypic and phenotypic ratios for the F2 generation?


	genotypic ratio:



	
	phenotypic ratio:




